bl dail) 1 2 il (o yd Aalac Y A yaall
2008-12 - 11 Clual )l 4 SR g

(Llig) ;1 Me Gl
s Uad gl sy cal (1]
CVama s s g SN/
CAll bl A5 512 5 6 o deudll Jidy 3180 22l /o

Cus 5 (4B) //(0F) Syn Lm a3 €5 B 5 4. gsiwall B lulaie liaa (0;7;7)(2
peli b bl daS) 0 J Al o )l € 9 B piladil)
ClowiVs) 5 B(V3im) 5 Al 4)

P
D dassall LY A (EF) ) (M N) Sus LG KA ydias (3
PE  EF PM P PE P
PM  MN PE  PF PM  PF
M N

(Ba5) @28 cppai*
6\/8 .wm “ .
. b:W 5 a=2J63-428 +/112  Osioball itas

Cb=33 Ol s a=247 Olow (1
. (a-b) <5l (a+b) Jom (2
a b
. +
a+b a-b

(.L.\'AJS) ;34&9&\)&3*

bz%x\/% K a=|7r—3|—|—4+71'| s il (]
M 2x -1 5 1-(x+42) /) AadSyx al (2
V2 s x| eedkeliie 2 5 48 /@

(La6) : 48 Gyl

CAE=3cm Cus [AB ] (w4l E L AD =6cm 4ase 5 AB =9cm A sh Jikius 4BCD
K sl (IK)/(AE) OVow . [ED ] Gaaiia K 5 [4D | caaliia [ oS8/ (1]

LK ual & [EC] Gl g Olon . J P EC] g (1K) adiead) /@
H S [CB)abs s N & [DC] gy (My) il p Jasudllh 4 8 lalie a7 &4 (2
MD DN
=

=a+b> o= (3

. DN sl | O G /)

";ﬂﬁvuir.’rh
Toutes les les miveaun...


http://www.devoir.tn/

